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2.1 ����	�	
��	

����� 

 
 �������	
��
�������������	
���������
���� ����	����� ������
��������� ���

 �����!��	���
 ��� �������!" �����#$�	 ����%�!�&�� ��
�� ECRS  +�����,���%�-�
������#�"!  

 
2.1.1 ��������������	� 
������
����� (TIME STUDY) 6$	 ��� �����%�!�&��������7�
���	
6�
��

8��
��	�!������7�
����!" 9�����9���:�	
������
��������� %���
��� (���;��, 2535) 
1.  �B$�	�;� ��7� �����+�������
+#�����7�
��/���#�"!�;� ������7�
��

�	
6�
����
��;"�� ���
D �B$�	��������������!���-�+��6���;�,���!��
D 
2.  �;� �6���;�,���%�!�&�� +��;������%�E
��;�,����	
;"��
��  �$	�"�6��

���#�"! �$	�"�6�����	�,,�#�"!��	��6!9��	������	%F�,��������
�������	��! �B$�	�;������
�7� ����6��"�6�� 

3.  �;� ���6��	
#�"!G�EH:��	��
%$	#�"!�;�������������B$�	 ��"I�����7�
��
���������9����� �����!��
D 8��
��
;��� �!���-����#�"!���!�7�J��	������ 

4.  �;� �����"�I"G�B����7�
���	
6�-�6�$�	
,����;�;�����������,��
��7� �������7�
��� ��%�7���%	 

5.  �;�������L���	%F�������%�-�������#�"!  ;���!���"��,���+!���
 ����
��!��
D !�	
����7���
6������� 

6.   �����%�!�&������;���L�!��&�������,���6��!	�+���;���L�%�!�&����
���NO�6�
��� %�+����L�%�!�&����������������������"�I"G�B������7�
����L�!��&����
���,���6��!	�+�������!��
#�
��%�!�&���B$�	��L���EH:�����������
��+!���6� 8��
,���L�
���9�;�:������ ���
��� 

7.   �����%�!�&���7� ����;������6��6-%6��+�
�7�� ����!��
��Q� %����� 
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#�"!��L�J�!�%!�	
���+��;��������67���E ��"R��"��!����$�	
�	
 Critlcal Path Analysis
;��������67���E �������7���
���#�"!�	
9�

���B$�	�;��������
+#����#�"!+������
�7���
���#�"!��	��6! 
 

������������������ �	������� ��
���  
1.  �����$	�
�����,����
�+����$	�6����� %���% 
�����$	�
��8��
��L��7��	
�����������������
��"I���� (Method Study) �����L��;�����

�B������6�������
�����%�9	�����	�%�����,���"��
J���+#��!��
D +�����$	�
��	���
�-�%����
� c�+���%��,���$	�
��;"����;"�� ���
 �����L��;������B��� 

- 
��;"��������L�
��� %�9�

��J%��6��7�%���	� (#�"!G�EH:� %�;"������� %�
 �$	����7�
��� %�) 

- ��"���������������-  �$	 �"I�����7�
�� !�	
�;�����%�!�&��� %� 
- J�����67���	
����� �$	�",��E:�������������%�!�&����"%,��6�
�� �$	 
!��+�� 

- %�
��6	6	� (Bottle Neck) ���,-���,� ���
�	
����������	�
�� 
- !�	
��� �����%�!�&���B$�	����-�!:���,���6��+�
!�%�����
"�,F
�, 
- �6�$�	
,������
��"�J� �$	 � �#�
����	���"�J� �7�� �!�	
�"�6��� :����7�
��
� %� 

- !�	
������,��7�J����������������"I�	$��D ���%�6����	����%� 
- 6���;�,����	

�������F
��"�J� 

�����$	�B���
���B$�	�7����,����������7�
���	
������� 6����$	�B���
�����%�
�-�G�B+�g
+�
 %�6��%��%��R 6��%;7���c
��+��%����
�����EH:�����%�6��%8$�	!�
 �����
6��%��g�������7�
��6��	�F���������h����  �$	�F
����������h������g���	� R����$	�6�
�����
�7�
��;����"�J� �$	6�J%�;7���c
��,��7�� �����%�!�&�����J�������"�6�� 8��
	�,,���"�
�ic �J��G�� ��
�%$�	��$	�J��B���
������ %���%+���,�!�	
	I"���� !-#����!�	
,���������
�7�
���	
���� �����,���L���������,�B���6��%J%������,	�,�7�� �����7�
�����G�BJ%���!" 
�;�� �7�
����g���"�J�  �$	!��
�,�7�
��� �;���
�B$�	� �%�!�&��!�7��
 �%$�	�-�	���
B��	%+����g
��"�%�7����,������9��#F�,������6���$�	�F����� ��
���������� ���
 +��	�F� ��
		�J�B	�%6��
���,�J%����������7�
���	
6�
��#F����� #F��"�6��� :,�!�	
��������	%F��� �������
 +��
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+��j	�:%��������	%F����J��		�+��J����������
�����%�!�&������7�
�����!�	
�7� ��
,��J��
�7� ������7�
��+��� ���
����B������R�� ����
J%�J���"I�����7�
����������-�+��� 	�,,�6��B�
�"I��������G�� ��
 9��6�
���	
  �$	 #F��;����;�c�gJ���7�� �!�	
 �����%�!�&��� %� 

2.  +��

�����,����
�		���L�
����	� (EIement) B��	%���������������	������
�7�
��	���
�%�F�E: 
����	� (Elements) �������� %��R�
  ������	��	

�� 8��
� g�J��;���,� 
��%��R	I"���+��,������J��
�����6�
���7��� ���
�	� ,�RF�+��
		���L�
����	� 
(EIements) J�� ���D 
��#F��"�6��� :,�,�������	
+!���
����	� +�����,������!�	��	�
����7�
�� +����7�
����	�+!���
��%���%���G�� ��
 
����	�+��
		���L� 8 ;�"� 6$	 

-    
����	�����7�8�7� (Repetitive Element) ��L�
����	�8��
��"����-�D ��o,����	


�� 

-    
����	���
6���
 (Occasional Element) ��L�
����	����J%���"��������-�D ���
,���+!�	�,��"���L�����D ���J%�+���	� 

-    
����	�6
��� (Constant Element) ��L�
����	�������������7�
��6�	����

+���	�J%����,���L�����7�6���
J ��g!�% 

-    
����	�+��6�� (Variable Element) ��L�
����	�������������7�
�� 
+��������J�!�%6-E�%��!"�	
����-#�"!G�EH: +���"I���� 
-    
����	��7�����%$	 (Manual Elelment) ��L�
����	�����;�6��7� 
-    
����	��7������6�$�	
,��� (Machine Element) ��L�
����	�����;��6�$�	
  
    ,���;��� 
-    
����	���
6�� (Governing Elemnet) ��L�
����	����%����������������
��
��	�	$�����	�F���
��;"���������� 

-    
����	����� (Foreign Element) ��L�
����	����B����E����
�+!� ��
 
,���"�6��� :+���B����J%�,7���L�!�	
�7� 

 
������� !�����"#$����
$�
 %���
��� 
-   +��
�����6���L�#F�6��6-%		�,��
������6�$�	
,���6��6-%� �;���,�������
�

���� ��L�������
�������	
6�,�
!�	
+�����
�
���	
+�������"I����!��
��� 
-   +��
�������"����,7�		�,��
������7���L�6���
6���		�� �;���,� 
������7���L�

���,7� (Regular EIements) ��L�
�������"������-�D �	�����7�
�� �;�� ����������-+��������
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����-		�,���6�$�	
 ��L�!�� ����
�������"�������L�6���
6��� (lrregular Elements) ���� J%�J����"�����
�-�D �	�����7�
�� �;�� ���!��
�6�$�	
,��� (Setup) ����������%�����
  �$	�����v��%�7�6��%
��	�� ��L�!�� 
������7���L�6���
6������,�+��,������!��
 ��+����7�%��h������%����J�G�� ��
 

-   +��
�����J%�,7���L� +��
�����,7���L� 
�����J%�,7���L� 6$	 6��%���;��!��
D �����"�����
,��6��%#"�B������E�����7�
��,�
,7���L�!�	
+��
�����;��		�,������7�
����!"���������"�
,��6��%���;����� ��������
J%�J�� ,��7�%���%G�� ��
��G�B�	
������ ��	� ����6��%���;�����
 ��������
J�� � ��7�����7�,��		����������"I����������-
����7�
�� 

-   �����	

����	�+!���
��6������ +!�J%�������"�J��������J%���� �����	

��
��	�6��	�F��� ���
 0.04 ���� (2.4 �"����) ,�R�
 0.33 ���� (20 �"����)  R�������	

����	�����
��"�J�� ���%
����	����!�	D ��� ��� D 
�������������,��"�����B	���,�,������J�����
����	�
+!���
��,�!�	
%�,-���"�%!�� +��,-��"���-����� g�J��;�� 

-   
����	�+!���
��!�	
��L�
����	����+���	� 8��
,��7�� ������������#�J��
���+��
 ��%���	%F�%��D 6���
 ,��7�� ���%��R!��
����%�!�&���	
+!���
����	�J�� 

3.  �7������
��!+��,����������7�
��+!�������!	��	

����	� ���,����������"�%
�;����%�	�F� 2 �"I� 6$	 ���,������+��!�	��$�	
 (Continuous Timing) +�����,������+����g%���
���� (Snapback Timing  �$	 Repetitive Timing) 

���,������+��!�	��$�	
 #F��"�6��� :,���"�%,�������%$�	
����	�+����"�%���� +������	�
� ���x"��,��������"�J���$�	�D �%$�	�"���-�
����	���� 1 �g	���6������ +��,��������
��
+��j	�:%���������� 9��J%�!�	
 �-�����J�� �%$�	�"���-�
����	�R��J��g	��� +��������6������
,����x"������������������,�!�	��$�	
J���$�	�D ��L��������% R��,� ������	
+!���
����	��g
�7�%� �������	���� ���
 

���,������+����g%���������L����,�������	
+!���
����	���� 9��#F��"�6��� :,�
��"�%,�������%$�	
����	�+����"�%�$�� �%$�	�"���-�
����	��g	���6������ +��,���+��j	�:%������
���� ���E����	���6�����g,�g���-v%��
6������7�
���	
��x"��� ���g%�������J���� 0 ,�������

���g,
����	���� 2 ,�
	���6������ ������+��!��
��g%J���� 0 � %� ���,������+������7�� �J��6������
���+��,�"
�	
+!���
����	����9��J%�!�	
�7���� ����G�� ��
 9���"I�����E�	���6������+�����
�-v%� ���g%����������� 6�
���g�7�
����	�!�	J�	���
!�	��$�	
	�,�7�� ��������J��6����6�$�	�
��g���	� 
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4.  �7���	%F���$�	
!�����J��%�67���E,7����6���
���!�	
,������ 
5.  �7��������%"�����"�I"G�B����7�
���	
6�
�� 
6.  67���E �������!" (Normal Time) 
7.  67���E ������� ��	� (Allowance Time) 
8.  67���E �����%�!�&�� (Standard Time) 
 ������	����	
����!	���� 4-8 ����,�+��
������!�	J� 9���"I�������
���������"�%

�;����%������-��"I� ���
�g6$	 ���,������9��!�
 (Direct Time study) 9��	�6�����,����������
�6�$�	
%$	���������� +��+#
��������	%F� +��	�,%����	
R���G�B��!�:��������
��E� #F�����7�
���,������,�����J�,����������"��E���B���
���7�
���"I����%���	���������� B���
�����RF�
�7�������
�	�F�����	�,,�J%��7�
�������
E���!"�	
����	
 	�,,����
�7�
����g����� �$	
�7�
��;��������!"�gJ�� ��
���� ��	����,��7�������
�����9���"I����#F����
�,�!�	
	I"���� �
B���
������+�������,R�
��!R-����
6:�	
������
���	�  
 

2.1.2 ����	��������%����
$�� (��;!:���E ��c,��icc�6%, 2528) 
��� �����!��	���
��������������� 9������J��%$�	����������������,�B����

9	������,������������ ���%��R,�������	

����	�+!���
��� �%�6���������������-�D 6���
���
�7����,������������L���$�	
��� ��$�	
,��6��%#"�B��������,������ �$	6��%J%��%�7���%	��
����7�
���	
6�
�� �$	�B���6��%+��#������	$��D �	

��+!���
������6��%+!�!��
�	

��������;��7�
����	�;�"��������� R��%��6��%�;$�	R$	J���	
��	%F���	%��	��
 h�����,7����
��	%F�,�!�	
�B"�%�����B$�	�7�� ���	%F��;$�	R$	J�� ��
���� ,7����!��	���
�����,������,�
!�	
%��
!�%J����� +!�R������%�6��%+!�!��
�����	�,7����!��	���
�����,�������g��	�!�%J����� 

����!��	���
�����,�������	
+!���
����	�����	�F���������6��%�;$�	R$	J���	

��	%F�+������	%� �%�6��%6����6�$�	�J�,��6��%��L�,�"
%����	��B��
�� 9����!"����J�,�
�;������6��%�;$�	%������ 95% +��6��%#"�B������ ±5% ���67���E �����!��	���
�����,��
����	���� ����R"!"����%�;���9��R$	�����	%F�%����+,�+,
��!" ��
���  

���,��%%-!"���6��+!�!��
���������������+!���6���
������"�,����� !-�	
9	���
�B��
	���
����� ��
���� 6�� Standard Error �	
 Mean �	
+!���
����	���	%������� 
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2 2 2
2

X 2

' + ' +......+ '
=

N'

  

σ σ σσ  

                        
2

2

.N'
=

N'

σ
 

 

                  X

'
=

N'

σσ                                                                                 (1) 

 

9�����      
X
σ =  Standard Deviation of Distribution of Means                

+!�6�� Standard Deviation ( )σ  �g6$	 6�� Root Mean Square Deviation �	
6�����	���

J��,��6���h��������6$	 

                   
2

( -X)x
 = 

N
σ Σ

                                                                   (2)  

  

+!�           
x

X = 
n

Σ
         

 

+��6�� X  �
���F!� (2) ,�J�� 

                

2
2

xx = -
N N

ΣΣσ
  
    

        
     

 

                            

                         ( )2 21 = -N x xN
σ Σ Σ   

 

R��                          σ = σ'                                                                                  
+��6�� σ   ���F!� (1) ,�J��         
                

                                
( )2 2

X

1 -N x xN =
N'

Σ Σ
σ    
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              X  6$	  �����	

����	�����������+!����	� 
N  6$	 ,7�����	�������	
,������ ����6$	 ,7����
����	������������!�	
���	
,��

���� 
 N '6$	 ,7�����	����!�	
,������ ����6$	 ,7����
����	������������!�	
,�����������

,�������	

��;"�� ���
D #F��7����,������,�!�	
!���"��,���,�� ���	%F����J��
%�6��6��% 6������������!"%��!��
6��6��%6����6�$�	�J�� +5% 9��� �%�
�����6��%�;$�	%���J%�!�7����� 95% ����6$	���%�9	���	���
��	� 95 ,�� 100 
���6���h�����	
��	%F�� ��J��%�6��%6����6�$�	�J%���"� +5% ,��6�������L�,�"
 
R��������-�%!��	���
%�%������ 30 ��	%F� ,�%����
E��	
���+,�+,
��L�
��!" (Normal Distribution) ��
���� 95% 6$	 B$������!� Curve 8��
,�!�
���6��  

2
z α  �$	�������

0.975z   

                      

                              2

x-µ

σ

n

z α =
 

      9��%�6��6��%6����6�$�	�J%���"� + 5% ����6$	 X - 0.05 µ x=   

 

                      X0.975
 0.05X = σz∴ ×   

  

              X
 0.05  = 1.96×

x

N
σ∴

Σ
 

                  
 

                 

2 2
-

0.05 2

1
N x xx N

N N'

Σ Σ
 
 
 

∴ =
Σ

                                        

                                                  

                                  
( )

X

2
2 240 -N x x

N' = 
Σ Σ

Σ

 
 
 
 
  
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�E�����������%��R �6��6��%6����6�$�	��	
��	%F� �$	 Relatitive Accuracy     J��,���F!�  
 

                    
α

× x
2r e l .A c c = x 1 0 0 %

X

Z σ
 

                                                                              
����E���������	
!��	���
�����g�����������%�,7������	� ,�%����67���E �6�� 
�����
���%�!�&����L� 

                               

( )X

X

x

2

2

1

Σ

S
n

n

 
 

− 
 
 =

−

Σ

                                                    (3) 

���67���E �����!��	���
9��������%�E,������;�6��B"���9�� �����
�R"!" 	���� ������
����B$��&���	
�F!�6��%�����
���  (���;�� �","���";, 2535) 

                               
R H-L

σ = =
d d2 2

  

                                                      
R  6$	 6���h�����	
B"��� 

2d  6$	 6��6
�������	�F��������!��	���
 
H   6$	 6��%���-��	
!��	���
��;-��	

����	�;"������ 
 L  6$	 6����	��-��	
!��	���
��;-��	

����	�;"������ 

    H-L  6$	 6���h�����	
#�!��
�� ���
6��%���-�+��6����	��-���;-��	

����	� 
 

 %��� !-* H-L 6$	 R �7� ���!��	���
;-������ +��6�� R �g��L�6���h���� R   �����7��	
�������� 

6���h����  x  	�, �J��9�����%�E,��    

    H + L
=

2
x  �7� ���!��	���
 ���D ;-� 

   

    H + L
=

2
x �7� ���!��	���
;-������       

�����,��;�6�� SD  ����-���L�!��+���	
��	%F����
 %������"�����,�"
 !�	
��L�6�������
���

%�!�&��,��6���h���� x  SD ;��
%�6��  
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                           x   =  
R

SD
d2 n

                      �%$�	 n ��L�,7����6���
���,��������;-� 
 

R�������6��%�;$�	%��� 95%  �$	 5%  �	
  x   ,�%�6��  =  x2SD   
 

                  
2

H+L H-L
0.05  = 2

2 d n
  

 

                           ( )
( )2

4 H-L
n  = 

0.05d H+L
  

                                            
��������6��  n  6$	6�����!�	
������� �$	����!��	���
�����	
 

�E����6�� n  	�F�����	%�	
  H-L

H+L
   �B$�	� �
������������67���E6���	
�7� ��� 

!��	���
;-��� 5  �$	 10 ��
����	��B$�	� �����%���+��6�� n ���,�!�	
 �!�%!���
��� 2.1 
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!���
��� 2.1 
,7����!��	���
���!�	
����7� ���6��%#"�B��� ±5% ��������6��%�;$�	%��� 95% 

 

 
H-L

H+L
 

��	%F�,�� 
!��	���
,7���� 

 
H-L

H+L
 

��	%F�,�� 
!��	���
,7���� 

 
H-L

H+L
 

��	%F�,��  
!��	���
,7���� 

5 10 5 10 5 10 

0.05 3 1 0.21 52 30 0.36 154 88 

0.06 4 2 0.22 57 33 0.37 162 93 

0.07 6 3 0.23 63 36 0.38 171 98 

0.08 8 4 0.24 68 39 0.39 180 103 

0.09 10 5 0.25 74 42 0.4 190 108 

0.10 12 7 0.26 80 46 0.41 200 114 

0.11 14 6 0.27 86 49 0.42 210 120 

0.12 17 10 0.28 93 53 0.43 220 126 

0.13 20 11 0.29 100 57 0.44 230 132 

0.14 23 13 0.3 107 61 0.45 240 138 

0.15 27 15 0.31 114 65 0.46 250 144 

0.16 30 17 0.32 121 69 0.47 262 150 

0.17 34 20 0.33 129 74 0.48 273 156 

0.18 38 22 0.34 137 78 0.49 285 163 

0.19 43 24 0.35 145 83 0.50 296 170 

0.20 47 27 
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�"I��;�!���
��� 6$	 6��  H-L ,��!��	���
 1 ;-��;�+��6��  H-L +�� H+L �;�+��6��  H+L +���
�	�6�� H +�� L ,��6��������	���J��J����,������6���
���� 5 6���
  �$	 10 6���
 �	

����	� +���
 �6�� (H-L)/(H+L) ,��6�����J���7�J���������������6����������J����!���
��� 2.1 

 ��
���������%"�����"�I"G�B������7�
�� (Determining The Rating Factor) �"I�
���������-�6����$	�B���
�����%����
�������7�
��	�F�����EH:�h����+��� �6��%B����%������7� 

��B	���%�E�%$�	��������B���
�����
 %�+���7�
�������"I����%�!�&������7� ��6��,���L�
B���
����%�����"�I"G�B������7�
�� 100% +!�����
�o"��!"+�����L�J�J�������$�	
,��6��% 
��%��R������7�
���	
B���
���	
��6�+!�!��
���J� ����	�F����6��%;7���c+��6��%
�%$�	���������"����� ��
���� �����,����������7�
���	
B���
��+!���6���
,�!�	
%��������%"�
	�!������7�
���	
B���
�����E����� �B$�	�;���L�6�������������J��� ���L������G�����!"
(����"�I"G�B   = 100%) 

�������%"�	�!������7�
��9������;�6�+�������������%"� (Scale Rating) 8��

,��7� ��J�� ������� �;������ 60-80, 75-100, 100-133 +�� 0-100 �������� 0-100 %�
������!�
���
�������������,  

 
!���
��� 2.2   

!���
����%"�	�!������7�
�� 
 

6������  	�!������7�
�� 
0  J%�J���7�	�J� 

 
50  �7�
��;��%�� 
75  �7�
���%�7���%	 J%����
��� 
100  	�!������7�
����!" 
125  ���
 �;$�	%��� +�����
��� 
150  ��g�%��%�6��%B����%+�����,�F
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����;�������L�	
6:����	��������%"�6$	 
                                   ������!"        =           ������$	� x 6������/100 
 

2.1.3 ���������'��("�)��������*�� (Nomal Time and Standard Time) 
 ��
,��J������!�%,7�������� %���%+������	�!������7�
���	
B���
��+���

����!	�!�	�� 6$	 ���67���E �6��������!"�	
+!���
����	� 9���%��� (�","!�, 2535) 
 

                                   ������!"     =         ������$	�x 6������/100 
 

���67���E ������#$�	 (AIIowance Time)  
������7�
����D �g!�% +%����,�#������		�+���"I�����7�
��� ������-� +!�

B���
���g��
��"�6��%�%$�	���� +��6��%�6��������J�� �	�,�������
!�	
�������������7��",
����!�� �;�� �$�%��7� J� �	
��7� ��L�!�� ��� �6��������!" (NormaI Time) J%�J����%�����#$�	J��
������	����,� �����%�!�&���	
����7�
������ !�	
��������#$�	� ����������!"��	� 8��
����
�#$�	���+��
		�J����L� 

 �.  �����:;
�<=����#>����$�?�� (Delay Allowance) "#$�E%� 2 "## >;� 
1. +�� ��������
J�� (Unavoidable Delays) 	�,��"�����J���-��E� +��J%�

��%��R6�����J�� �;���6�$�	
,������� ����-��$�	%�G�B B���
����"�6��%J%�B��	%h��B��� �$	
	-����6��
	���
��L�!�� 

2. +�� ��������
J%�J�� (Avoidable Delays) %����"�,������7�
�� �;���������
�6�$�	
,��� ����7�6��%��	�� �$	�����������6�$�	
%$	 ��L�!�� 6��%���;������G����,�J%���"�����
 �$	��"�����J����	�%��  ��%����,���7����� ��� �$	�7�	-���E:B"��
%�;���������7�
�� 

�. �����:;
�<=����##F>>� (Personal Allowance) 
�����#$�	� �B���
���7��",����!���;�� J� �	
��7� !�	
��� �-�B�� ����$�%��7� ��L�!��

�G�B����7�
��+!���	���
��L���� !-�	
����;���������!��J%�� %$	���� �;�� ����7�
����
 �	
����	���� 	�,,�J%��$�%��7���	�+!�J� �	
��7���	� 
������;��7���
%��+��
�����R�����
�7�
�������	�	�,!�	
�$�%��7���	� ���B",��E�� ������#$�	���!�	
B",��E��G�B����7�
��
����	� 9������J�+��� �����#$�	�����-66�,�6"�� ����%�E 2-5% !�	����7�
�� 8 ;���9%
 �$	
���%�E 10-24 ���� +!���
�����6�	����
 ���  �$	
���������	�	�,�B"�%� �%������ 5% J�� 
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>.  �����:;
�<=����#>�����;
�
��� (Fatigue AIIowance) 
�����#$�	�7� ���6��%� �$�	������$�	
,������7�
�� �%$�	B���
���7�
�� ���  �$	

�7�
��G���!��G���+����	%���%�6��%��	��F
 6��%;$�� N-v���		
 +������
	�����!��
D ,��7�� �
B���
����"�6��%�6���� ���
�����"�6��%�%$�	���� +��!�	
���B�� #�	�� ����
��������F��G���
��!" ��
���� ,�
,7���L�!�	
%������#$�	�7� ���6��%�%$�	���������#$�	����G����,�����	�F�������
E�
�	

�� 6��%+�g
+�
�	
B���
�� ��������������7�
�� +���G�B������	%������7�
��+!�
���G�B�	
����7�
���i,,-���6��%� �$�	����+��,�J%�%�#�!�	����7�
������B����G�B���
�7�
��J��RF�������-
,�� %���%����-�+��� +��������7�
��I��%����	�!�� 8 ; ���9%
/��� ����
#�#�"!���J���F
��������7�
�� 9 ; ���9%
/��� �������6���#$�	�7� ���6��%�6����  �$	6��%� �$�	�
����������� c%��J��,��������	
����������������	
���B��J���$�	�D +����F#�
�� 8��
��

+ �
��%��R,�����
		�%���L�!���
�hB���7� ���
����9�

���	
!��	
	���
J��g!�%��
�i,,-������9�

������J�%��%�����B��� �$�	����%�E 5-15 ���� ��;��
6���
�;��+��6���
�����	

����7�
���B$�	� �B���
��+��6�
��J��6���6��%�6����	�F�+��� ����B��;��
����D ���%����9�;�: 
6$	 

- ��6��%+!�!��
��6��%��%��R�	
����7�
���	
B���
��!�	����+��;���
� ����������7�
������,-��F
�-���%	 

-  ��6��%8�7�8��,7��,�	

�� 
-  � �B���
��J��j���!��,��6��%����	
����%��$�	��
��-�% 
-  ����������������B���
��,�!�	
B������ ���
����7�
���
 
��9�

��8��
J%�J���;��������,����
"���
���,��#�
�� ����B�����,���%����������

�7�
��+!�9�

��8��
%�����;��������,����
"���
���6���#$�	�	
6��%� �$�	�������,�RF��7�J��;���
���67���E����%�!�&�� +��B���
��,�J%�J������"�I"������	�����B�����J���%�������
��
��!" 

����E����%�����7�
��+����������	
������!�	
�;������#$�	�7� ���6��%�6������

���
��� ILO J����-�#��	
�����B$�	��L� % NormaI Time J����
!���
��� 2.1 

���67���E ������#$�	,�	��
	"
9���;������#$�	%�!�&������7� ������9�� ILO 
(lntenationaI Labor Office) ��
+��
��!���
��� 2.2 +���%$�	�7�%��;�����G�������7�
���	

����������	���
��$�	������R��!:��%��R ������#$�	 (Allowance) ���,7���L��7� ������
�o"��!"
������� �	�!������7�
�� (Rating) ,��;��"I�����%"�	�!������7�
�� �Westing 
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House System to Rating� ��
!���
��� 2.3  9��	����	
6:����	� 4 !��;��������B",��E� 
��
��� 

1. 6��%;7���c (Skill) 
2. 6��%B����% (Effort) 
3. �G�B����7�
�� (Conditions) 
4. 6��%�%�7���%	������7�
�� (Consistency) 
�7� �����
����	�J���7� ��6������%"� ��
��� 
- ����6��%;7���c  6�+��   C1 = +0.06 (Good) 
- ����6��%B����%  6�+��   B2 = +0.08 (Excellent) 
- �����G�B����7�
��  6�+��   D = 0.000 (Average) 
- ����6��%�%�7���%	������7�
��  6�+��   C = +0.01 (Good) 
��
���� 	�!������7�
�� (Rating) =  0.06 + 0.08 + 0.00 + 0.01 = 0.15 
����7� �������#$�	 �$	������ ��	� (Allowance Time) ����7�
���-�	���
J%��;�

,��7�9��J%�%���� �-�B��#�	�  �$	 ��"�� !-���;����� ��
����,�
!�	
%������#$�	J���7� �����E�!��
D 
8��
�%� !-#� �����#$�	����	%� �%�	�F� 

�����#$�	6
��� 
- �����#$�	�7� ����7��",I-�����!��������
�����7� ��� � = 5% 
- �����#$�	�7� ���6��%�%$�	����������
�����7� ��� � = 4% 

 �����#$�	#��+�� 
- �����#$�	�7� �������$�������
�����7� ��� � = 2% 
- �����#$�	�7� ��������
���#"���!"������
�����7� ��� � = 0% 
- �����#$�	�������������%��$�	������
�����7� ��� � = 0% 
- �����#$�	�7� ���+�
����
������
�����7� ��� � = 0% 
- �����#$�	�7� ���	������	�; $��������
�����7� ��� � = 5% 
- �����#$�	
�����!�	
�	��,���������
�����7� ��� � = 2% 
- �����#$�	�7� ������������
��!"������
�����7� ��� � = 0% 
- �����#$�	�7� ���6��%!�
�6������
,"!�,������
�����7� ��� � = 1% 
- �����#$�	6��%8�7�8��������
�����7� ��� � = 1% 
- �����#$�	6��%�����$�	������
�����7� ��� � = 0% 
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- �����#$�	����;����!�������
�����7� ��� � = 0% 
- �����#$�	�7� ����6�$�	
�Q	
���	��!���������
�����7� ��� � = 0% 

��
���� ��%�����#$�	���
 %�������� 5+4+2+5+2+1+1 = 20% �	
������!" 
 ���67���E �����%�!�&�� (Standard Time) 

 ��
,������6��������!" (NormaI Time) +�������#$�	 (Allowance Time) +���
��%��R67���E6������%�!�&���	
����7�
��J��9�� 

Standard Time  = Normal Time x (Normal Time + %  Allowance)/100 
�%$�	 Standard Time = ����%�!�&�� 
NormaI Time  = ������!" 
% Allowance = �����#$�	 
������!"  (Normal Time) 
������!" =  ������$	� x 6������/100 

=   22.11 x (100/100) 
=   22.11 �"����    

����%�!�&�� (Standard Time) 
����%�!�&�� = ������!" + (������!" x % �	
�����#$�	)/100 

       = 22.11 + (22.11 x 20%)/100 
       = 22.11 + 3.31  
       =  26.53 
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!���
��� 2.3 
6�+���	
	
6:����	�!��
D ���������%"�	�!��6��%��g�!�%�"I��	
  

Westing House System 
 

Skill Effort 

+  0.15  A1 +  0.13  A1     Excessive 

+  0.13  A2 +  0.12  A2 

+  0.11  B1   Excellent +  0.10  B1   Excellent 

+  0.08  B2 +  0.08  B2 

+  0.06  C1  Good +  0.05  C1  Good 

+  0.03  C2 +  0.02  C2 

+  0.00  D   Average +  0.00  D   Average 

-  0.05  E1  Fair -  0.04  E1  Fair 

-  0.10  E2 -  0.08  E2 

-  0.16  F1 Poor -  0.12  F1 Poor 

-  0.22  F2 -  0.17  F2 

Condition Consistency 

+  0.06  A  Ideal +  0.04  A   Perfect 

+  0.04  B  Excellent +  0.03  B  Excellent 

+  0.02  C  Good +  0.01  C   Good 

    0.00  D  Average    0.00   D   Average 

-  0.003  E  Fair -  0.02  E    Fair 

-  0.007  F   Poor -  0.04   F   Poor 
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2.1.4 ����	��� ECRS 
 ECRS ����	����� Eliminate, Combine, Rearrange, +�� Simplify 8��
+!���!��%�

6��% %�� ��
��� 
Eliminate (E) - ��L����!���	�
�����J%�,7���L�		�9��6�� �,-�����
6:�	

�� 

����%�
��,7����%�����RF��7�J�9��J%���"����9�;�:	����G�B+�����%�����"�I"G�B�F
�-������
������-

������7�,��6��%�Fc����� 

Combine (C) -  ���#�%#��� 9����!"����������7�
����
6���
�����%��R
�7�
��� �
������� 9�����#�%#���	
6:����	��	

�� ;���� �������!	��	

����
�����
J��
+��%�	�F���	����B�����"I����� %����J��,�����#�%#�������7�� �
�����
����
������� �������%
��
�����������J�� �$	J%�	�,,�B",��E�R�
 ���		�+���R�������7�
�� +��,���6�$�	
� %� 9�����
��������7��������7�
��� %� 9�����		�+��;"������� %�  

Rearrange (R) - ���,���7����
��� %� ���	�,6
�7��������!	����#�"!� %$	���"%
�gJ�� +!��g!�	
B",��E������������!	�!��
D ����7���"�	�F�����RF�!�	
�� �$	��
��
6���
����������
�7��������7�
����
����!	�	�,;���� �����"�I"G�B����7�
���B"�%���� 

Simplify (S) - ����7�� �
���9���%$�	B",��E�R�
����7�,�� ���#�%#���+�����
,���7����� %�6��B����%,�����	
6:����	��	

���������� �$		�F�� ���L�
�����
�������-��������
,���L�J�J�� 
 

2.1.5 ���R�%<�%F����<�
���:�(� (����� ��	
���
�
,  2535) 
���,���%�-�������#�"!6$	 ����7�� �������+!����R���
��!��
D %�	�!����� 

�7�
�� �$	�;���������D ���  ����������;���+!����R���J%��������	�!�����#�"!,�RF��7� ��9��
��������7�
������;���������������-� 8��
�������� �	��������#�"! (Cycle Time) ���,��
������#�"!,���"�%��������7� ���	��������#�"!  �7��������
��  ����%�!�&��,������
B����%��%�����	

��!��
D �������������L��R���
�� 9��� �+!����R�� � ��"�6��%+!�!��

��	�����-�������7� ���	��������#�"!9����!",�����	�F������"%�E6��%!�	
����	
!���8��

,��7� ��%���L�	�!�����#�"!!�	�� !�	���  �$	!�	;���9%
 ,���������,�
%� ������  1 ;"�� 6��,�
�;�����������,�
,�#�"!J��!�%��"%�E���!�	
��� 8��
���,�J�����������%��R#�"!		�%�J���� 1 
 ���� ���� %��R�
��+!����R���
��,��;�����J%���"� 1 (Cycle Time) 8��
6���	
�	��������
#�"!����%����9�;�:	���
%��!�	���		�+��9�

�� �$	��
#�
9�

��+��!"�!��
�6�$�	
,���+��
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��
%����9�;�:����E����%����������-
����"�I"G�B���#�"!� ��B��
B	���6��%!�	
������
�������J� 

��� ��R�������7�
�� (Work Station) ,��7�9������7��	�����%�!�&�� 
(Standard Time) ��� �J��%� �����������	
�	��������#�"! (Cycle Time) ,�J��		�%���L�
G�B+���%��� ��
���  
 
�R�������7�
�� (Work Station) =      ����%�!�&�� (Standard Time)  
                                                        �	������	
���#�"! (Cycle Time)  
 

,-�����
6:�	
���,�����
�����#�"! 6$	 ���		�+�����
�����#�"!� �%�
����"�I"G�B�F
�������,��7�J��9��67���
R�
6��%��L�J�J�� 9��������!�	
 � �$	67��������!��
D
�	
����7�
����
!�	J���� 

1. �����	

�� (Work Element) 6$	 ���+��

�����,�!�	
����	�� �	�F�!�%�R���
�����
��9�����+��

��		���L�������	�D ,�J%���%��R,�+��
!�	J�J��	�� 

2. 
�����
 %� (Total Work Content) 6$	 #���%�	
�����	

��!��
D ���,�!�	

����	������
���������
 %� 

                                         

e

=1

ej

n
 =T Twc

j
∑   

 
 9�� Twc  6$	 
�����
 %�  
3.  �����	
�R���
�� (Workstation Process Time) 6$	 �������!�	
�;��7� ������

����	���+!����R���
�� 9����������	

��	�,,�%�%������  1 
���gJ�� 
                                     

                                    
i=1 j=1

e

ej

nn
 = T Tsi∑ ∑  

 

9��  Tsi  6$	   �������!�	
�;��7� ����������	���+!����R��� 
 ejT  6$	   �����7� �������
�� (Work Element) 
   j  6$	   
������ ���
�	

�� ne 

  ne   6$	   
����	�������%���������L� Job 



22 
 

 

4.  �	����� (Cycle Time)  %��R�
 ;��
������ ���

�����
��		�,��������#�"! 
8��
��L�6�����J��,�����67���E��
��
�� (Tc) ��� �6���	���������,�����	�F����	�!�����#�"!���
!�	
��������
���	�,��������
!�	
67���
R�
��������Fc����J������
��	��������
�%��� 

                                      E
Tc

 Rp
≤          

9�� Tc   6$	 �	����� +�� Rp 6$	 	�!�����#�"!���!�	
��� 
�%$�	 E  %��R�
 ����"�I"G�B���
��#�"! R����L����
��#�"!+��	�!9�%�!"9��

��!",�%�6��!�7����� 100% +!�R����L�������#�"!+��I��%��,�%�6�������6��
 100% ���
���
��$�	
,�������	
��
�����;"
��%�9	�����"�������	� +!�R������"�I"G�B��	����� 100% �	�����
��
��
��,�%�6�����
�B$�	;��;�����������!�	
�Fc����J� ��
����6���	��������!�7��-������L�J�J��
,�����	�F�����R���
�����%�6�������F
�-� (Ts) ����6$	 

                                 Maxc siT T≥        
 

R�� MaxTc = Tsi  ,�%��������
��"���������-�D �R��� Ts ��	����� Tc 8��
������-�+��,�J��  
     Tc Tej≥  (�7� ����-�D  ;�	
�	
 j = 1,2,3,�.. en ) 

9����� Ts  6$	 �����R���
�����%�6���F
�-� 
5. ��	,7�������	�F���	� ��� (Precedence Constraints)  %��R�
 �7��������!	����

,7���L���
��6�"6�����
��#�"! �;�� !�	
�7�
�������������	�,�
,���%��R�7�
������	$��!�	J�
J���7�� �J%���%��R����
�����J�� 

6. #�
+��
�7��������!	� (Precedence Diagram) +��
����!	��	
����
��
9������J�,��;�,-��;$�	% (Node) ��L���c���
E:������;$�	%!�	�� ���
�����	

��+��%��F���
��L�!���7� ���"���
������7���"�
�� 

7. ����Fc����6��%�%�-� ( �Balance Delay) ��L��6�$�	
;��R�
����"�I"G�B�	
���

������	� �$	
��#�"!���%�6��%J%��%�F�E:��"����� 9��B",��E���������Fc����� (ldle Time) 
,�����,��+,�
���
���R���
�� 8��
,�+��������c���
E: d +���F!���� �,���%���  

 

                                        nTc - Twc
d = 

nTc
               

                                                                

 9�����  n  6$	 ,7�����R��� 
   Twc  6$	 ����
�����
 %�  

Tc    6$	 �	����� 
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���R�%>���<�%F����<�
���:�(�%��
�(S	�$��T (Method of Line Balancing) 
1. ����EH:����7� ��!7�+ ��
9���;�6���F
�-� (Largest Candidate Rule) 
�"I����,���"�%!�����������$	������	

�� �B$�	,���
���R���
�� 9���F,��6���	


���� (Te) ��L� ��� ����!	�!��
D ����;�+���ic �����%�-��	
������#�"!%� ��
��� 
1.1 �
�����������	

�����
 %� 9������
�7����6�� Te ,��6������F
�-�J���


6�����!�7��-� 
1.2  ,�������	

���
���R���
������ 9����"�%,�����������	�F����-��
%� 

+���7������$	������	

�������L�J�J���
���R���
�� 9��B",��E�R�
�7��������!	���	� ��
��
����7�
����L� ���+!�#�����	
  Te  ��+!����R���
��,�!�	
J%���"��	��	
����  Tc 

1.3 ,�������	

���
���R���
��	$��D � %$	������	 1.2 +��!��,�	��F�������
�	

������B"�%����J�����J%���"�6�� Tc 

1.4 �7���"����� %$	������	 1.2 +�� 1.3 ����R���
��	$��D ,�J%�%������	

��
� �$		�F���� 

2. �"I�����	
�"���"�,: +������!	�: (Kllbridge and Wester's Method) 
��6�"6�	
�"���"�,:���J��RF��7�%�����-�!:�;�+���ic ���$�	
����%�-��	
���
��

#�"!���%�6��%����8��8�	�J����L�#��7���g,+��J�����6��%���,��L�	���
%���"I�������,���"�%!��
���������$	������	

���B$�	,���
�R���
��9��,���L�J�!�%�7����!7��� ��
���	�F���#�
���
,���7����
�� (Precedence Diagram) �����6$	 �����	

�����	�F�!	�!���	
#�
 ,�J��������
��$	�+��,���
�R���
����	� �����"I������
����������%��R,�+���ic ������"�������������	

��
���	�F�!	��-������	
#�
���%�6�� Te �F
 8��
����EH:����7� ��!7�+ ��
9���;�6���F
�-�+���,�J�����
���B",��E���	� 

����!	�!��
D ����;�+���ic �����%�-��	
������#�"!%� ��
��� 
2.1 ����
#�
���,���7����
�� 9��%�,-��;$�	% (Node) �B$�	�;$�	%�����	

�� ,�RF�

+��
J������%G: 
2.2 �
�����������	

��!�%�7������%G: 9����"�%,���������-��	
��%G:��� 1 

R������o���%������	

�������%��R,�,��+,�J��%������ 1 ��%G: � ���������	

���������-�D
��%G: 8��
��%��R,�����������J�%�J�� 

2.3 ,�������	

���
�R���
�� 9����"�%,�������	

�����	�F�����%G:��� 1 +��
��%G:	���D !�%�7���� #���%�	
������+!����R���6��,�%�6��������� Tc 
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3. �"I�����;���7� �����L�!���7� ��!7�+ ��
 (Ranked Position Weight Method) 
�"I���������"�,�������%���-�I:�	
����EH:����7� ��!7�+ ��
9���;�6���F
�-����

�"I�����	
�"���"�,:����������� �"I�������,�6"���7� �����+!��������	

��9���;�6�� Te �	
����

��!��
D ���6�����	�F�!	� ����	
#�
�7����
��  ��
,������,�
,�������	

���
���R���
��
!�%�7����6���	
 RPW 

( )( )i

m

i= ij

j

RPW WT PMAT WT+ j∑ �%$�	  j = 1,2,3�m 
 

9����� RPWi = ��7� ���6�+���	

����	� 
WTi = ����
����	� i 
WTj = ����
����	� j 

PMATij = ��%����"�I"�6��%��L�	"��� 
 = 0 �%$�	
����	� j J%�!�% ��

����	� i 
 = 1 �%$�	
����	� j !�% ��

����	� i 

m = ,7����
����	����
 %���������#�"!  
����!	�!��
D ������7���"�
�� 
3.1 67���E6��  RPW  ��+!��������	

��9�������%6�� Te �	
�����	

��

����D �������6�� Te �	
�����	

�����
 %����!�% ��
 
3.2 �
�����������	

�����
 %�!�%�7���� RPW 9��,�� RPW ,��6���F
�-�

J� �!�7��-� 
3.3 ,�������	

���
�R���
��!�%6�� RPW B����% ��������
��	,7����

��������������	

�����	�F���	� ��� (Precedence Constraint) +���	����� 
 
2.2 ���������	
��	

����� 

 
�-;��� ����"���I-: (2543) J�����
�R�
+����
����B"�%����"�I"G�B���#�"!9�����

 ��������%����6��6��
�	

���F
 (Bottleneck) �����������#�"!+���;����,7��	
�R�����E:
9��+��%	�������L��6�$�	
%$	������"�6��� :+�������������#���
�����R"!"�� �����
��$	�
�B$�	�����������6��6��%+!�!��
�	
�������"�I"G�B�����������#�"!���������-� 8��
��
��$	� 
�B$�	�����������6��6��%+!�!��
�	
����"�I"G�B�����������#�"!���������-� 8��
��
��$	����������-�
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,��7�� ���%��R�B"�%����"�I"G�B�����������#�"!J����	��� 45.50  �	
���������#�"!
�i,,-��� �	�,�����J��%�����;� ������ 5�, ISO9002 +�� ISO14001 %���L�+����
�����
6��6-%6-EG�B+�����
��G�B+����	%G����9�

��	������ 

�-��� �7��-
,"! (2543) J�����
�R�
+����
���������-
����"�I"G�B�����#�"!��
	-!�� ���%	"��g���	�"��:8��
��L����������#�"!���%�6��%8��8�	�+����%��R��������������
J��9���������
+��,7��	
�R�����E:� ��	�6��	
������������#�"!�i,,-����	
�������	�
	-���E:����6�$�	� ��	����	
 ����6��%,7���L�+��R���+��J����%����+��
�� ���D
��
��$	��B$�	�����������6��%+!�!��
�	
#���BI:�	
����%�!�&�����#�"!�����������-�8��

#�����",��B���� ��
��$	����������-���%��R������%�!�&�����#�"!J��,�� 53.8  ��L� 41.7 
����  �$	��	��� 22 ��������6��%�;$�	%�����	��� 95 +����%��R��6��%+�������	
����
��
�
,�� 0.008 �
� �$	 0.002 �E���������,�����R��������#�"!J�����
,�� 19 �R��� � �$	
18 �R��� 

�-I� 
�%	�-E9;!" (2547) J�����
�+����
���������-
����"�I"G�B�	
9�

��#�"!
�����R��!:���������#�"!���!F+��B�
%����9���7���
��������
�����+������6�$�	�J �
%��;���������
��"I�������i,,-���+���7����������-
�"I�����7�
��� �%�����"�I"G�B�F
����9��
�;� ������ECRS �B$�	�7� ���"I����+������%�!�&������7�
�����;���,�,�������7����,��
�%�-�������#�"!� %� 

������	�  ����B� (2552) J�����
�+����
������������#�"!9��%-�
��;"������
�� ���
���������#�"! (WIP) �B$�	��,7����;"�������� ���
���������#�"!���%�%����"�J� 
��E����
�9�

�����,��
����	�+#���
,�	"��69���"��:9���;���6�"6�����
+#����#�"! ���
,��!���
���#�"!+�����,���%�-�������#�"!�B$�	�7�� ���"����J �	���
!�	��$�	
G���!�
��	,7�����	
���B�������#�"!���%�	�F�	���
,7���� 

�Bgc�"�� ���"���: (2548) J�����
��������
+��,7��	
9���;���
��+R�6	�%��;�
��9�

�� #�"!;"�������R��!:9�����
����������#�"!� �g����96�
+����7�%������������
����������	6	��	
;"��
����	�+�� ��
,������7���
��+R�6	�%��;��"�6��� : �,7����
�6�$�	
,������� %���%�7�� ���"�6��%�%�-������������#�"! 


